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PART-A

(Answer all the Questions 5 x2 = 10 Marks)
Write Simpson's formulae.

Use Euler's method to find y(0.1) given y' -(f +q71e-' ,140) = I .

Find the Laplace transform of 3cos 3t.cos4t .

Find the finite Fourier sine transform of y€f.rJ : 2.r, s -,- .:r: *: 4,

Solve/1+ q):qz.
PAIIT-I}

(Answer all lrive Units 5 x 10 : 50 Marks)

' Uind the root of the equation xex :2 using Regula-Falsi method.

OR
3a4-J a 

Compute i^u'a* by Simpon', 1rrl. with 10 sub divisions.
0

b7
Compute 

J 
x' log xd;r using trapezoidal rule and Simpson'snrle by taking

3
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10 sub divisions.
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Using R-K rnethod of 4tl'order, solve

1//av v -x* = *, Y(O):l Find Y(0.2) and Y(0.4).dx y- +x-
OR

10M
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Evaluate the function u(x,y) satislying Y2u=0at the pivotal points given the boundary 10M
values as lollows:

!ooo

transform of f Q) = s-4r'1" )! a1uot

translbrm of f (t) = t e2' sil3r.
OR
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Find the
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Q.I'}. Code: l8HS083,l

' ,n,.,. the D.E 
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-9.r' = sitr I using l.aplace Translirrtl givett tltal

2l .l"
I)rovc that ltl .r" lir) | - (- i)" :'=[t'tp)).

tl 1t"

rr 
i tix) i : -! [l', r7,;].I)rcr'ctlratl;',{) .,, cl|),,,, 

Ol{

I,'ircl the i,r,erse Fourier sire trarslbrm ol'(x) o1' 1', (p) - i,

10 u solr. Q} $DD+2D'' )z:24r1t
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Solve n 3-/ - =E +Jx Y'(x cx oy
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OR
11 A homogeneous rod of conducting material of length 100cm has its ends kept at zero 10M

temperature and the temperature initially is

u(x,0):x, 03x=50

:100-x, 50Sx<100

Find the temperature u(x, t) at any time.

,l ,t,lEND'1.:l *
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